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MATHEMATICS

1. (secA+tan A) (1 —sin A) =
A) sec A
B) sin A
C) cosec A
D) cos A

2. Value of sin? 63° + sin? 27° is
A)O
B) 1

C)

NG =

D)

3. lfsin2A=2sin A, then A =
A) 0°
B) 30°
C) 45°
D) 60°

4. If coto= 78 , then the value of

(1+5sin8) (1-sinB)
(1+cos6) (1-cos8) *°

64
A) /49

50
84
49
64
D) 1

B)

C)

wforr

. (secA+tan A) (1 —sin A) =

A) sec A
B) sin A
C) cosec A
D) cos A

. SiN263° +siN? 27° HIAF &

A) O
B) 1

C)

D)

NG =

. AR sin2A=2sin AR, WA=

A) 0°
B) 30°
C) 45°
D) 60°

. A cote=%‘%,?ﬁ

(1+5sin8) (1-sino)
(1+cos8) (1-cos6)

64,
A Mo
50
B4

49
64
D) 1

HIAA S

B)

C)



5. The sum of first 15 multiples of 8 is 5. 8% WoW 15 TSI & I §
A) 240 A) 240
B) 960 B) 960
C) 800 C) 800
D) 690 D) 690
6. A sum of Rs. 700 is to be used 1o give 6. %. 700 TR w e & Rt =
seven cash prizes to students of a 7 Qs It % e g T2
school for their academic excellence. TR B ¥ Ry wdm i 1€ | IR vE@w
If each prize is Rs. 20 less t_han its T TR A% 207 A,
preceding prize then first prize amount
is At o TR Y Uiy = g ?
A) Rs. 140 A) ®. 140
B) Rs. 150 B) ¥ 150
C) Rs. 160 C) =160
D) Rs. 120 D) = 120
7. The number of 3 digit numbers 7. @ 7 Al e ved 7 fvsa 8 7
) divisible by 7 is A) 126
A) 126
B) 128
i B) 128
C) 130 C) 130
D) 127 D) 127
8. The 20" term from the last term of the 8. sf@en 3, 8, 13, ..., 253 F Afwm &
sequence 3, 8, 13, ...., 253 is 209iwed
A) 140 A) 140
B) 158 B) 158
C) 98 C) 98
D) 90 D) 90




9.

10.

11.

12.

Two consecutive odd positive numbers,
such that sum of whose squares is 290,
are

A) 11,13
B) 9, 11

C) 13,15
D) 19,17

The value of k so that the following
system of equations 3x—y + 5 =0 and
6x — 2y + k = 0 has no solution is

A) Kk = 1
B) k=1

C) k=10
D) k = 10

The value of k for which the lines
3x+4y=5and5x + 4y =4 and
kx + 4y = 6 meet at a point is

A) 1
B) 2
C)3
D) 4

Which of the following cannot be the
difference between a two digit number
and the number obtained '
by interchanging the digits ?

A) 72
B) 36
C) 54
D) 48

9.

10.

11.

12.

‘éamanﬁwnummﬁihﬂﬁsauﬁﬁ%
T3 3% =il = 21 200 &, <Y T8 dEnd &
A) 11,13

B) 9, 11

C) 13,15

D) 19,17

k =1 518 9 foraeh forg wdftentun
3Xx—y+5=03M6x—2y +k=0%
WOl 1 i s A&

A) k # 1

B) k=1

C) k=10

D) k = 10

k o1 98 9 Foraes i@t 3x + 4y =5,
5x + 4y = 4 3T kx + 4y = 6 T & &g
R e &

A) 1
B) 2
C)3
D) 4

Frefeiiaa § & 9 91 G 31 7 H qeln
37 a7t =i TIW 29 T FEEA F T
Tt T % ofte ot oia TEl 8 e ?

A) 72
B) 36
C) 54
D) 48
1 PECE



13. If AABC is right angled at C, then the 13, 9f2 AABC, C W &4 E,
value of cos (A + B) is Al cos (A +B)F AR ?
A) 1 A) 1
B) 0 B) 0
1 1
C) - C) —
) > ) 2
o B ]
) 5 . ) S
14. If secA +tanA = x, then tanA = 14, aft secA + tanA = x &, i tanA =
m % A %
1 1
BY — B) —
2x ) 2%
2 2
C) x° -1 C) x< -1
2x 2x
2X 2X
D
D) 5 ) ¥
15. If sind = /3 cos®, 0 < @ < 90°, then 6 15. R sin6 = /3 cosh, 0 <0 <90°%,
is equal to e
A) 30° A) 30°
B) 45° B) 45°
C) 60° C) 60°
D) 90° D) 90°
16. If tan20 + cot28 = 2, 8 is an acute 16. f tan?e + cot?8 = 2, 0 TH [ H ¢,
angle, then tan + cot’d is equal to 3 tan®e + cot’6 =
A) 2 A) 2
B) 3 B) 3
C) 4 C) 4
D) 8 D) 8



17.

18.

19.

20.

2 men and 7 boys can do a piece of
work in 4 days. 4 men and 4 boys can
do the same work in 3 days. Then

the number of days a boy takes to
complete the same job is

A) 50 days
B) 60 days
C) 30days
D) 55 days

In an examination, one mark is awarded
for every correct answer, while % mark
is deducted for every wrong answer.

- If a student gets 90 marks by answering

120 questions then how many questions
did she answer correctly ?

A) 96

B) 100

C) 90

D) 95

Ifx=asin 6, y=Dbtan,then i—Z-S—i:
A) 0

B) 1

C) -1

1
D)E

Sides of 2 similar triangles are in the
ratio 3 : 7. Areas of these triangles are
in the ratio

A) 9:35
B) 9:49
C)49:9
D) 9:42

Page No. 7

17.

18.

19.

20.

2 iR 7 Agh wwE Wi 4 RA |
T UHA § | 4 At 3R 4 e SHh e
HI 3 A ¥ & g 2 1 A T Ao St
M Hm R R awarg ?

A) 50 f&=

B) 60f

C) 30fe=

D) 55 %=

Tk Tl ®, yels udl IW S e 1 3w
fort sman R, Sl wke TTetd S T
Y% 3o =ie foran wman & | 9} o ferneff
120 T o I A W 90 3 W g4,
1 35 e vl S adt I R 7

A) 96

B) 100

C) 90

D) 95
ﬂﬁx:asinﬁ.y:btanﬂ,??f%-%é:
A) 0

B) 1

C) -1

]
D) 2
ey Py A yed 3 7 F A A € |
37 et & gwa 1 g =1 8 ¢
A) 9:35
B) 9:49
C) 49:9
D) 9:42

1 PECE



21. The pair of lines y =0 and y =—7 has
A) No solution
B) One solution
C) Infinitely many solutions
D) Two solutions

22 Hx+3isafactorof X3+ ax?—bx+6
and a + b = 7-then the values of a and
b are respectively

A) 1,6
B) 0,7
C) 0,-7
D) 2,5

23. lfx—y=0and 2x-y=2 then values
of x and y are

A) 3,3
B) 2,2

C) -2, -2
D) -3, -3

24. The value of k for which the system of
equations 2x — 3y = 1 and kx + 5y = 7
have a unique solution, is
A) k=1

B) k=10
-10

k#z—
C) 3

D) any real value of k

25. A quadratic polynomial whose zeroes
are3and-5is

A) 2+ 2x—-15
B) x2—2x + 15
C) x2—-8x+15
D) x*+8x—15
C

21. Wady =03y =—7F JHH

22.

23.

24,

25.

A) i T T8 8
B) THEd T

C) A e 6
D) ATEE

IR % + X2~ bx + 6 FMTHPHES X + 38
#Ra+b=7% dasb FaAFE:E
A) 1,6
B) 0,7
C) 0,-7
D) 2,5

A x—y=0R2x-y=2% A x3iM
y % M §

A) 3,3

B) 2,2

C) -2, -2 .

D) -3, -3

k =7 98 A foress forg wfiemmr 2x — 3y = 1
iR kx + 5y = 7 & T 1 TH Aled
T /M

A) kz1

B) k=10

C) k¢:‘£).

3
D) k 1 1§ ardfeh A

A) x2+2x-15
B) x2-2x+15
C) x*-8x+ 15
D) x®*+8x—15
1 PECE
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26.

28.

29.

In a flower bed, there are 23 rose plants
in the first row, 21 in the second, 19 in
the third and so on. There are 5 rose
plants in the last row. Then the number
of rows in the flower bed is

A} 15
B) 18
C) 10
D) 9

. The sum of the reciprocals of

Ms. Sonu’s ages (in years) 3 years

ago and 5 years later from now is 1
Then Sonu’s present age is 3

A) 5
B) 7
C) 8
D) 9

A motor boat whose speed is 18 km/h
in still water takes 1 hour more to go
24 kmupstream than to retum downstream
to the same spot. The speed of the
stream is

A) 6 km/h
B) 7 km/h
C) 10 km/h
D) 24 km/h

Value of k if the 2 roots of the quadratic
equation kx(x — 2) + 6 = 0 are equal, is

A) 5
B) 6
C) 10
D) 1

26.

27.

28.

29,

D) 1

T g &7 H, o vif o 23 er e
&, 21 qEiufRr 3 &, dredifRd 198 el
Tl Wit At oft €1 sife ey o 5 e
% 919 €, T g ar o dfRell ) den d
A) 15
B) 18
C) 10
D) 9

Faam @ o 94 qdf ot 5 a¥ e
F. O % Y (I F) F yorm w1 I
< &, iy o g 2

A) 5
B) 7
C) 8
D) 9

T A Wi Rreehl wiw s § ufy 18
.48, [aer g, T A wm W e |y
24 .+t s o gma ot 8, 389 1
w2t wiftren ar % Rl T o 7
HE K CE

A) 6., fua

B) 7 f&.4. fgen

C) 10 &, /921

D) 24 f.oft. /e

AR et aHfieo kx(x —2) + 6 = 0%
AEEHE, MkF A

A) 5

B) 6

C) 10

1 PECE



30.

31.

32.

33.

Which of the following is incorrect ?
A) tan6=3
B) sind =3
C) sec0=3
D) coto =3

: 1 1
lfsin(A-B)= —,cos{A+B)=—
( ) > { ) >

then values of A, B are respectively
A) 15°,15°
B) 30°, 0°
C) 45°, 15°
D) 15°, 45°

If cose + sind = \fo cos@ then
cosO — sind =

A) V2 cose
B) J2sing
C) 0
D) 1

If tan@ = 3 )+ then the value of

[3 Sin® + 4 cose]2 is equal to
3 sin6 — 4 cosO

A) 312

B) 302

C) 172

D) 72

Page No. 10

30.

31.

32.

33.

Freafafiga 1 @ Ra-w s 2 ?
A) tanb =3
B) sin6=3
C) sec6=3
D) coto =3

af sin (A—B):%,cos(A+B)=%
2, A A 31T B &1 TH %5 §

A) 15°, 15°

B) 30°, 0°

C) 45°, 15°

D) 15°, 45°

afk cosd + sind = /o cosd &, Wt
€0s6 — sind =

A) 2 cos®

B) J2sing

C)o

D) 1

2% tan6 < 5
tan@ A %,?ﬁz
(3 sin@ + 4 cose] _

3 sind — 4 cosb B
A) 312
B) 30?
C) 172
D) 72

1 PECE
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34 The arithmetic mean of a set of 40 values

35.

36.

37.

38.

is 65. If the 40 values is increased by 5,
then the mean of the new set of values
is .

A) 65

B) 70

C) 60

D) can't be determined

The sum of the deviations of the
variate values 3 4, 6-7, 8,14 from
their mean |s '

ST |

B) 2
C)o

D).10.

Value oftan 1°tan 2°tan 3°. . . .. tan'8gris
A) 0 -

B) 1

C) 89

A quadratic polynomial whose.one zero
is ~ 5 and the product of the zeroes
is0,is )

A), X2 + 5x

B) %~ 5%

C) X2 5% +5.

D) x> -5x + 1

The value of m so that 4x2 — 6x —m is
divisible by x — 3, is exact divis_or of

%
S
4
g

34. 40 U % U W= 1 GHIG AT 652 |

35.

36.

37.

38.

R 40 7T Y 58 =g R W, o AR &
¢ WA I e

A) 65

B) 70

C) 60

D) Fraife 7 fomem s wean

frerwm 3, 4, 6, 7, 8, 14 % fraeri =1
ITH AT Y T R

A) 1 '

B) 2

C) 0

D) 10

tan 1°4an 2°tan 3°. . . . . tan 89°%1 T
A) 0

B) 1

C) 89

TSreren1 o v - 5 % oy R
0 %, =8 fammdt sgeeia &

A) X2 + 5x

B) x2—5x

C) x2+5x+5

D) x2-5x% + 1

m &1 98 99 /e fow 4x2 - 6x — m
Wl x - 3 ¥ e frn o o9, @ ==

A) 9 1 ot T B |
A) 9

B) 45 B) 45

C) 20 C) 20

D) 36 D) 36

Ey Page No. 11

1PECE



-

39. The area of a quadrant of a circle whose

40.

41.

circumference is 22 cm, is (in cm?)
A) 7
8
B) 70
C) 100
D) 11

In the figure if TP

and TQ are two tangents to a circle
with centre O, |POQ =110°, then

IPTQ =
A) 60°
B) 70°
C) 80°
D) 90°

The angle of elevation of the top of a
tower from a point on the ground, which
is 30 m away from the foot of the tower,
is 30°. Then the height of the tower is,
(in metre)

10
A

' 7B
B) 30V3
C) 10V3

D) 10

Page No. 12 "

39. 224, m%@qa%@agﬁam

e (A2 H)
A 7
8
B) 70
C) 100
D) 11

LA

To%s{oﬁ@qama‘rmﬁ@m%
[POQ=110°, 3 [PTQ=

A) 60° o
B) 70°
C) 80°

D) 90°

1

41, TUEe T G fig ¥ S i TR amER

8 30 #i. R, TR & ¥ 1370 Hio
30° %, d T A S R, (heH) v

10
A ——=

)&
B) 3043 “

C) 1043

D) 10
1 PECE -



42. The value of k if the points A(2, 3),

43.

44,

45,

46,

B(4, k), C(6, — 3) are collinear, is
A) 10

B) -1

C) 1

D) O

if the points A(6, 1), B(8, 2), C(9, 4),
D(p, 3) are the vertices of a parallelogram,
taken in order, then the value of p is

A) 7
B) -7
C) 6
D) 10

The ratio in which the line joining the
points (5, 6) and (—1, —4) is divided by
y axis is’

A) 5:1

B) 3:2

C)5:2

D) 1:5

ABC and BDE are two equilateral
triangles such that D is the mid point
of BC. Ratio of the areas of triangles
ABC and BDE is

A) 2:1
B) 1:2
C) 4:1
D)1:4

If the first and the last term in an A.P.
are 17 and 350 respectively and the
common difference is 9 then the number
of terms is '
A) 38
B) 35
C) 30
D) 40

42.

43.

45.

46.

D) 40
Page No. 13

afe fg A(2, 3), B(4, k), C(6, - 3)
TRReF E, Nk AF R

A) 10

B) -1

C) 1

D)o

afe fag A(s, 1), B8, 2), C(9, 4),

D(p, 3) T TR Iy & iid & afk
FANE, MpHI A=

A) 7

B) -7

C) 6

D) 10

. Tergadt (5, 6) =it (-1, —4) = SigtawEh

Y@ y 2% g o g 3 st smam ¢
A) 5:1
B) 3:2
C)5:2
D)1:5

ABC 37 BDE @ arag fiyet 39 wer &
f& BC =1 weafeig D % | st ABC 3int
BDE & &% 1 31T &

A) 2:1

B) 1:2

C)4:1

D) 1:4

¢ T i ot # e ofk sifim we
FH: 17 3R 350 § i gy siaue 9
?, A A v &

A) 38

B) 35

C) 30

1 PECE



47.

48.

49,

50.

Mr. A and Ms. B are friends. The
probability that they both will have
different birthdays is (ignoring a leap
year)

1

365

2

365

364

©) 365

D) 1

A)

B)

Empirical relationship between the three
measures of central tendencies is

A) 2 mean + mode = 3 median
B) median + mode = 2 mean
C) mean + 2 mode = 3 median
D) mode + mean =2 median

A cone of height 24 cm and radius of
base 6 cm is made up of modelling
clay. A child reshapes it in the form
of a sphere. Then the radius of the
sphere is

A) 6 cm

B) 8cm

C) 9cm

D) 3cm

If two cubes of volume 64 cm? are
joined end to end, then the surface
area of the resulting cuboid is

A) 128 cm?
B) 160 cm?
C) 162 cm?
D) 64 cm?

' Page No. 14

47.

48.

49.

50.

i A 3R 7. B fim & 1 St sfaf
A=t 89 & snfrewar & (cfia o i oFn T
)

A

365

2.

365

364

©) 365

D) 1

A)

B)

Fa wgferl i o= wrat & = A
wEq?

A) 2 TTeY + TgEE = 3 AR

B) Wifemm + Sgei = 2 AT

C) Wed + 2 g = 3 e

D) wIges + WiEd = 2 HfedEl

yierewer i) @ 1 & O it 9K 24
Fft. siomm A Bswmevdh & 1w
T I8 G Th Tl 7 SR 3 € |
T <t e e @t ?

A) 6 9.7,

B) 8 9.,

C) 9 &.Hi.

D) 3 9.4

Ift 64§ 1.2 T7Fa= & <) 4] <l 9
# Rl @ <ire o T B, A aRomdfi ey
1 Y G &

A) 128 @42

B) 160 &.%.2

C) 162 &.7.2

D) 64 & .5t.2

1 PECE



CHEMISTRY LCIDERTE O
51. Water of crystallisation is not present in 51. Tl e 7 78 g |
A) Washing soda A) 9mEE |G
B) Baking soda B) @ =1 |iet (I dre)
C) Soda lime C) [ H U
D) Gypsum D) foreem
52. Plaster of Paris is 52, et AT UfE §
A) CaSQ, -2H,0 A) CaSO, - 2H,0
B) CaSO,- 1%2H,0 B) CaSO, - ¥%H,0
C) CaSQ, - 5H,0 C) CaSO, - 5H,0
D) CaSo,-H,0 - D) CaSO,-H,0
53. Acetic acid reacts with NaOH to 53. uffes tftre NaOH % a1er sTfufdm s
produce a salt, whose pH is TF wE0 a1 8, Rrae pHR
A) Less than 7 A) 785
- B) Equalto 7 B) 7 % SRR
C) More than 7 C) 7@ i
D) Equal to 14 D) 14 % R
54. The gas liberated when a metal is 54. ST HTg Y A AT AR F GFF § T W
treated with acid or base g et 2
A) Oxygen A) iedfis
B) Nitrogen B) T
C) Chlorine C) A
D) Hydrogen D) TRgeA
§5. High ductility is observed in 55. 2~ HIadIUE IR
A) Na A) Na
B) Fe B) Fe
C) Au C} Au
D) Mg D) Mg




56. Metal which is found in its native state 56. T8 TG S 9 g1 §9 § =TSR |
A) Pt A) Pt
B) Cu B) Cu
C) Fe C) Fe
D) Ag D) Ag
57. When brass is exposed to air for a 57. i diae @ o wwa ¥ fg a5y % |90k
long period of time it tums to green @ o g, @ I W *
due to the FROU BT B A |
A) Formation of Cu(OH), A) Cu(OH)EEFﬁ
B) Formation of CuSO, B) CuSOﬁFﬁ
C) Formation of CuCO, C) CuCO, =
D) Formation of Cu,O D) Cu,0 s
58. Alloy used for welding purpose 58. T % R YT i Siane g @
consists of A) drar et
A) Lead and Tin B) e air fre
B) Lead and Bismuth i
C) Lead and Antimony C) ¥ aﬂ'{qﬁﬂ:ﬁ
D) Lead and Copper D) e Sfrc e
59. Liquid non-metal among the following 59. FrfRa f 4 @ g R
A) Br A) Br
B) Te B) Te
C) Hg C) Hg
D) | D) |
60. Brass is the alloy of 60. i 6 e 8 )
A) Cuand Sn A) Cu 3R Sn
B) Niand Cr B) Niafit Cr
C) Cuand Zn C) Cu3izZn
D) Pb and Sn | D) Pb 3R Sn
c 1 PECE



62..

63.

64.

65.

D) Orange

61 Kurkure ‘packet's empty space is filled

with an inert gas, inorder to.prevent it
from

A) Reduction

B) Oxidation

C) Oxidation-reduction
D) Precipitation

T[ansparent photographac films
gradually change their colour when
exposed to light due to

A) Combination reaction
B) Thermal decomposition -
C) Oxidation reaction
D) Displacement reaction

Aluminium when exposed to O,
atmosphete; formation of AL,QO, is
observed. It is

A) Corrosion

B) Rusting

C) Decomposition

D) Rancidity. .

When blue coloured.CuSO; crystals
is heated, it gives a whlte amorphous
solid. This white solid is

A)-CuSO, - H,0
B) CuSO,

C) CuO

D) CuCO,

£ b e Tos

Colour of phenolphthaleln in acidic
medium

A) Pinj_< )
B) Yeliow
C) Colourless™ -

61.

62.

63.

64.

65.

- R
W%ﬂ%ﬁﬁﬁaﬂm@mﬁmﬂam
W Tl &, 9% 3 UFAH
fore frn s ® 1
A) JA=EA
B) IT=E
C) 993 -A9=gq

D) s/E&uu

YeRIYT % TG 3§ AT T IREH] BrRTihs
A H W HR-dR ufafda 8 s @ )
i %Wﬁ?ﬂﬁl

A) waem tfifsean

B) F&fw faiem

C) 3Iu=raA arfirigran

D) foreemam stffsen

TegHifEm O, % agHse & uueh § R
FERALO, TS 1 98 ]

A) HETw

B) ST w0

C) faism

D) =i B

S/ et T 3 CuSO, foreea =i i faman
AT @ o U The Wi 3 fiean @ |
TEAR I

A) CuSO, -H,0

B) CUS(J4 : o -

C) CuO _ ;

D) CuCO,

srety e B Rt fRE e

- A) T
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B) diem
C) TTEN
D) At

1 PECE



66.

67.

.

68.

69.

70.

Second highest electronegative
element in periodic table

A) Fluorine

B) Chlorine

C) Oxygen
D) Nitrogen

The element with half filled outermost
electronic configuration

A) Aluminium
B) Magnesium
C) Boron

D) Nitrogen

S :
The order of effective nuclear charge is
A) LicNa<K<Rb
B) Li>Na>K=>Rb
C) LicK<Na<Rb
D) Li<Rb<K<Na

Triad among the following is
A)H,F, CI

B) F, Cl, Br

C) Be, Mg, Ca C T

D) Ca, Sr, Ba

KOH is stronger base than LiOH. The
reason is '

A) Li is highly reactive

B) Atomic size of Li is less
C) Kis highly reactive

D) Atomic size of K is more

| Page No. 18

66.

67.

68.

69.

70.

T TRt =1 fiefi S R e
TR

A) TRA

B) T

C) sfiadier

D) iEgiSH

A) TegHifrm
B) #ifrem
C) sRH

D) EdeA

wa‘tﬁaesa:ﬁaraﬂam%

A) LicNa<K<Rb
B) Li>Na>K>Rb
C) LicK<Na<Rb
D) Li<Rb <K < Na.

et 3 @ 7 3
A)H,FCl
B) F, Cl, Br

C) Be, Mg, Ca

D) Ca, Sr,Ba

KOH, LiOH & srien wifmmelt &R &,
TH FROT ] ’
A) Li ¥1cda stfrefia 2
B) Li %1 T 3R F &
C) K areda afrfsramefier
D) K T Y1} AFHR Afo &
1 PECE



71.

72.

73.

74,

75.

Hydrolysis of an Ester in presence of
alkali is called

A) Esterification
B) Saponification
C) Substitution
D) Addition

Vegetable oils Usually contain
A) Unsaturated fatty acids

B) Carboxylic acids

C) Saturated fatty acids

D) Glacial acetic acid

Hard water forms scum with soap,
due to the presence of

A) CH,COOH
B) NaOH

C) Ca(OH),
D) CaCl,

Hydrophobic end of micelle is soluble
in hydrocarbon because it is

A) Non-polar
B). Polar
C) lonic
D) Covalent

Compound which does not belong to
the homologous series

A) CH,0

B) C,H,,0
C) C,HO
D) C,H,0

] Page No. 19

71.

72.

73.

74.

75.

chelt i Iufefe § u Swat & wefi-
T el &

A) =g

B) TR

C) witreem

D) W&o

mﬁﬁaﬁmm:‘aﬁm%
A) T AT ;A

B) wEifafersh 3ree

C) Hqw a& v

D) wifme e e

WY art e o | T S R,
T8 HHEME |

A) CH,COOH

B) NaOH

C) Ca(OH),

D} CaCl,

e o sraferely o7 sreiemea &
Heeite 2 i 98

A) g e

B) ydfta

C) smafw &

D) weadisi 8

2 s <t T e § 7€ o
A) CH,0
B) C,H,,0
C) C,HO
D) C,H,0
1 PECE
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76. Colour of Taj Mahal in Agra is
changed due to

A) Sunlight

B) Acid rain
C) Slaked lime
D) Corrosion

77. Antacids are used to remove
A) Body pain
B) Acidity
C) Basicity
D) Headache

78. Chemical compound present in tooth
paste is

A) Basic — Ca,(PO,),
B) Acidic — Ca,(PO,),
C) Basic — Ca(HCO,),
D) Salt-—-Ca,P,

79. pH of orange juice is
A) 2.00--2.35
B) 3.12-3.33
C) 3.00-3.75
D) 3.3-4.19

80. Acid which helps for the digestion is
A) Amino acid
B) Hydrochloric acid
C) Acetic acid
D) Citric acid

76.

77.

78.

79.

80.
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- r———— gy

SR & dISee 1 T &
wFreor gfEfdd 8 T R |

A) 99
B) aTeat

C) =
D) G&Rut

wRera I g & fore

TF GG |

A) T H &g

B) sncitaar

C) anfen

D) fired

Samie 1 Iufera T A R
A) & - Ca (PO,),

B) =i — Ca,(PO,),

C) &Wia - Ca(HCO,),

D) &=« —-Ca,P,

TN F @R pHE
A) 2.00-2.35

B) 3.12-3.33
C) 3.00-3.75
D) 3.3-4.19

UT= 1 HeE A aTel 37 3
A) fiH s
B) TRGEilich 3
C) wfufes ava
D) fafts sna
1 PECE



81.

82.

83.

84,

85.

Method used to prevent the corrosion
of Aluminium

A) Galvanisation

B) Anodizing

C) Tinning

D) Cathodic Protection

Metal ‘A’ reacts 'with dil. HNO, and
liberates hydrogen. A is

A) Mg
B) Ag
C) Cu
D) Au

The metal which is highly reactive
A) Hg
B) Zn
C) Pb
D) Al

Among the following the Polar
compound is

A) Kerosene
B) Alcohol

C) Benzene
D) Gasoline

Metals can be extracted easily and
economically from

A) Mineral

B) Metallic compound
C) Ore

D) Rock
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81.

82.

83.

84.

85.

T % GEROT i ek o (AT S
=i I areft It &

A) fetam

B) IgERi

C) fo=r it wa wgr

D) fregriwm

uTg A" 7 HNO,, % |19 1Ffsran ersgiem
IR FAIE |AR

A) Mg

B) Ag

C) Cu

D) Au

T8 YTy W Feia il &
A) Hg
B) Zn
C) Pb
D) Al

Frefafaa d @ yia A=
A) FRF

B) el

C) sl

D) el
ggeii ey & o
AfFTsTawEm € |
A) G
B) wifca= difih
C) 3T
D) wgH
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86.

Allotrope of carbon which posses high
melting point

A) Graphite
B) Fullerene
C) Coke

~ D) Diamond

87.

88.

89.

90.

The compound gives a sooty flame on
burning

A) CH,
B) C,H,
C) C,H,
D) C,H,

Addition of hydrogen to alkene in
presence of nickel catalyst is

A) Reduction

B) Oxidation

C) Addition and Elimination
D) Substitution

A compound ‘A’ with formula C;H,O
possess two structural isomers.

On Oxidation it produces an acid.
Compound A is

A) 1-Propanal
B) 2-Propanone
C) 1-Propanol
D) 2-Propanal

Poisonous organic compound present
in denatured rectified spirit is

A) Ethyt alcohol
B) Methyl alcohol
C) Ethanoic acid
D) Formic acid

Page No. 22

86.

87.

88.

89.

90.

e o HIET R 39 T ¢
A) UTHTEE

B) Wt

C) ®i%

D) &1

g i S e TG e saTen a8
A) CH,
B) C,H,
C) C,H,
D) C,H,

freper 35 ) Iuferfa # sehiA o
TR #)
A) ITRH

B) 3y=EA

C) e IR e

D) wiceenms

o ifires ‘A’ o 97 CH,0 ?, 385
B ST AHIEEE § | STeRF WIE T
AR | NPE AR

A) 1-9F@

B) 2-WNAH

C) 1-SuATe

D) 2-WAa

firgpa v ffe § suftm fden
EICE UG
A) 3IRE AT
B) ferdd arehieist
C) ToFigs
D) it o1
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91.-Burning of.Mg in air is 91, Afifirm =t s A e 8

A)_Physical change A)- st afEda
B) Chemical change B) tamaf uitads
C) Sublimation _ C) I=iaq
D) Oxidation-reduction D) Sq=FA-A9=9q
92. Reaction of marble with atmospheric 92. TIOR ! I g 3l CO, &
humidity and 002 to form slaked lime |y R 6 @mm%
:: ag examp'e_:m 4 A) v siffrar =
5) Dlspiosmén resoton. B) foceres i
' C) G sifvufshar

C) Combination reaction
D) Redox reaction

D) Iy=y=y siffwRar @

93. A compound X reacts with CO, 93. wF ifiw X, 91y # U@ CO, % wiy
present in air to form Y. Y on sfrm s Y T 2 | e % 9
decomposition produces an oxide. Y T THTES Se= & | e X
The compound X is .
A) Cato, A) CaCo,
B) CaO B) CaO -
C) Ca(HCO,), C) Ca(HCO,),
D) Ca(OH), D) Ca(OH),
94. Barium can displace which element 94, afem e o ) 30 goke A faeniia
from its sulphate ? T TR & ¢
i A) Sodium A) Tifeam
k B) Caesium B) *itaw
I C) Aluminium C) wegrifram
7 D) Hydrogen ' D) &g
95. Dissolution of glucose is 95, T T faee §
A) Endothermic reaction A) FETt SRR
B) Exothermic reaction B) FsAreqst arfyfsrn
C) Redox reaction C) == Srfsear
! D) Displacement reaction D) fereema rf¥rfsran




96.

97.

98.

99,

100.

The process of formation of covalent
bonds with other atoms to form long
chains is called

A) Addition

B) Coordination

C) Catenation

D) Polymerisation

CH,COOH + C,HOH _X |
CH,COOCH; + H,0; Xis
A) H,S0,

B) NaOH

C) KMnO,

D) Ni

Modem periodic law is based on
A) Atomic mass

B) Mass number

C) Atomic number

D) Electronic configuration

In Mandeleev's periodic table elements
with atomic numbers 18, 35 belongs to
which group ?

A} Group |

B) Group Il
C) Group V
D) Group VI

The element which is electropositive
in nature

A) Sulphur
B) Silicon
C) Boron

D) Copper
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97.

98.

99.

100.

. 3T WA % W HewaArs Gy SR

et S S Y wihan Fed §
A) GFe

B) w4

C) HEe

D) =rgefiern

CH,COOH + C,HOH _X |
CH,COOCH, + H,0; X &

A) H,SO,

B) NaOH

C) KMnO,

D) Ni

Iy e Ew L[
AURA R |

A) RN YR
B) MR &

C) Tty e
D) verrii fmam

el i orad awoflt # 18, 35 T
e A T A aE E E 7

A) |8 |

B) =g Il

C) gV

D) @ VI

g 7 Frae! e g oo @

A) TR

B) Refi=iq

C) R

D) .
1 PECE



101.

102.

103.

104,

PHYSICS

Select correct option from the following
about, nature and distance of the image
formed by plane mirror.

A) Real, inverted and at the same
distance as object in front of the
mirror

B) Virtual, erectand at the same distance
as object behind the plane mirror

C) Virtual, erect and at a distance
smaller than the object distance
behind the plane mirror

D) - Virtual, erect and at a distance larger
than the object distance behind the
plane mirror

To get virtual image of an object by a
concave, the object should be placed at

A) Centre of the curvature

B) Between centre of curvature and
principle focus
C) Principle focus

D) Between principle focus and pole

To get powerful parallel beam of light,
head light of vehicles have

A) Concave lens
B) Concave mirror
C) Convex lens
D) Plane mirror

What type of mirror is used to get
virtual and erect image always ?
A) Plane mirror

B) Convex mirror

C) Concave mirror

D) Both A} and B)

101.

102.

103.

104.

D) A) 3R B) gt

wifoe fargm=

THaE g4 g e wiafer it el ok

T F gy § Aefifla § @ o fwe

g |

A) arefae, Ieer 3R i ¥ aue g A
A Fam g

B) s, The 3 wwae gdur 3 S awg
g Fmr g w

C) e, He 7 wwae g4ur & i 95
A=

D) sAmwTe, Hen ofR awae gdu & 8 a5
HF R ARm A«

T aad g0 U I8 F At vl
I & ferg g & g
=i |

A) AT g W

B) ashal *% 3R 763 Hid & o

C) g&3 BiFd |

D) & B 3R ga & = L

eRTSt o wifaRrTTelt ST FeRoTgS T
3 for aresl it ¥gamge d B |
A) ETH §E

B) a¥aier gdur

C) Jud gdur

D) TWae 240

o et iR e wiefee wra F &
o v vepR w dor e A e ST ® 7
A) Gae g

B) 3uat g4u

C) radel guor

1 PECE



et

B

105.

In an experiment, a current carrying
conductor is kept parallel to the
magnetic needle on a compass. If the
direction of the current is from south

-to north then,

1086.

107.

A) North pole of the needle turns
towards west

B) South pole turns toward west
C) Needle does not move
D) North pole turns towards east

For a long, straight current carrying
wire, the strength of the magnetic field

l. is depend on nature of material of
wire

iI. is directly proportional to current

lll. is inversely proportional to
distance

A) | and Il are correct
B) | and il are correct

C) Il and lll are correct
D) All are correct

The direction of the force on a current
carrying wire placed in a magnetic
field depends on

A) The direction of the current but not
on the direction of the field

B) The direction of the field but not on
the direction of current

C) The direction of the current as well
as the direction of the field

D) Neither the direction of the current
nor the direction of the field
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105.

106.

107.

T S H, T T ek e S T

HYH W YA g3 & THMIR TG 50 ¢ |

IR foreaum i R o F o, @

A) g§ @1 3wl g3 ufvem ) IR gS
AR |

B) afaw g uftem it SR g T R |

C) g3 ¢l vew |

D) Iu g qd il ARG T ¢ |

& da, @ frgaares ar § e &7
$rafR

). &3 qaTe <t vl W Pl #

11, Terggerama & Sre @ATAT © |

1. i & v g § |
A) 13RIl vd &

B) I3l wdt &
C) N I uei &
D) oft wel &

T Ry &7 A W@ T fergaaes aR W

oo ot e fnft et &

A) Frggavmu i fean W e &= i fkkm
W e

B) &7 =t Ry w wifte ferggawra &t fam
W TR

C) feregaemu i feen 3 wrer-ane & < fwm
w®

D) 7 d Ao A R e ad am H

femw
1 PECE



108.

109.

110.

111,

From the following phenomenon, which |

one cannot be explained by assuming
light always travels in straight line ?

A) Refraction
B) Reflection
C) Diffraction
D) Transmission

Image formed by plane mirror,

l. Double the size of the object
Il. Half the size of the object
Hl. Same-as the size of the object

IV -Laterally inverted
A) lis true

B} Il and IV are true
C) Il and IV are true
D) All are wrong

What is the nature of the image
obtained from surface of the spoon
bulged outward and to what type
mirror we can approximate it to ?

A) Inverted and concave mirror
B) Inverted and convex mirror
C) Erect and convex mirror

D) Erect and concave mirror

An object is kept at infinite distance,
produces a bright and sharp image

-on-the screen kept at a distance ‘x’

in front of concave mirror, then X' is
equal to

A) Radius of curvature

B) Twice of the focal length
C) Focal length of the mirror
D) Object distance
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108.

109.

110.

111,

Frfafaa uiteeed # @ #-t =mey
3 UM & Ay & it 51 g
YhIY o dieft Yar § aerar g 7

A) 3T9EcA

B) wradA

C) fa=dq

D) YT

e T gRT SR T wfa e
|, 9% % TR A ST B
li. I 3 SR HT =T EN
1. %G % ATHR F T SRR 1 B
IV. urEefa 3w
A) 199 ®
B) Il IVEa g
C) HaiRIVa &
D) oft ram €

T % AT A SR PR §C TS § W@
whefera it wepfar @1 €ift ofit @ F-3
YR % S401 % IR w1 ST AT & 7
A) sea1 3R YT 9dn

B) 3wl 3R Iuet g4y

C) e aiit Iuw Tdur

D) witur 3R sreae adur

A T I Tt §E U e et 9
e 'x’ g8 T ved W U e e diw
Whcifera smelt B, A FwaR R

A) Tsra i B
B) B gt % a
C) zdur i Hiwa gt
D) =g HI gl
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112.

113.

114,

115.

If magnification m = +1.5, then

A) Size of the image = size of the object,
real image

B) Size of the image > size of the object,
real image

C) Size of the object > size of the
image, virtual image

D) Size of the object is twice the size
of the image, virtual image

A pencil partially immersed in water
appears to be displaced at the interface
of air and water, this is due to

A) Tyndalt effect
B) Scattering
C) Dispersion
D) Refraction

Arrange following in increasing order
of their absolute refractive index.

A) Water, kerosene, glass, diamond
B) Kerosene, water, glass, diamond
C) Glass, kerosene, water, diamond
D) Water, glass, kerosene, diamond

How power of the lens is related to
focal length of the lens ?

A) Directly proportional to f
B) Directly proportional to %
C) Directly proportional to J

D) Directly proportional to fla
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112.

113.

114,

115.

AR AEFA m=+1.58, @

A) wiafie =1 SATHR = FEG F AN,
areaferes wfafow

B) wffs =1 TR > TG &1 3TN,
areaforss fdfers

C) g 1 TR > FfIfeTat 1 TR, STt
wicfers

D) g 1 ATehTE Sferferer 3 STeRm 3 2
et whfers

o a1 w7 @ gl v e g eii
e & iUy W faeenfia yioa g 8,
Ig forash R 7

A} st mE
B) wehiviA
C) fagu
D) amweda

Pl = 39% Uf T9adis F ded
R o safeud il |

A) w19, FOHH, F, g

B) HUHH, e, &id, 810

C) wig, S, 519, €0

D) &, i, HAGH, B

<ra ot it o it wiee 0 1 TR SRR
wafua @ ?

A) {8 Yo HTgurd
B) %ﬁmﬁm@wﬁ
C) i & v gETgaTelt
D) flzﬂmamﬁtrﬁﬁ
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116.,According to. Ohm'’s law; V= IR
A) VaR ’
B) laR

1
C) Vo=
) Va =
D) Val
On which of the.following factors
resistance of the wire depends ?

117.

A) Area of the cross section
B) Length

C) Temperature

D) All of the above

118. Device used to regulate the current in

a electric circuit is
A) Transformer
B) Voltmeter

C) Rheostat

D) Galvanometer

Across a metallic conductor of non-
uniform cross-section, a constant
“potetitial difference is applied. The
quantity which remains constant along
—the conductoris

A) Current

B) Resistance

C) Electric field
D) Current density

119,

116.

117.

118.

119.

Page No. 29 &3

Fiien % & sgar, V= IR
A) VaR
B8) laR

1
C) Va—
) Vag

D) Val

TR w oy Peffaa d @ frmasw
ks ? 5

A) mmwm
B) wa§
C) a9uH

D) s9gwa avft

e faga withe # fegaemu =i Fafim wa@
% forg s e < e A R

A) it

B) diveriet
C) i e
D) freaidtet

I ST HI1E F T Hifeeren Aok A
o TR fepmaiaR e 7t 2 | qul =T
# St e fer e @

A) Fogaama
B) ity
C) frga &

D) fergauwn v
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120.

121.

122.

123.

What is the calour of sky viewed from
surface of the moon ?

A) Red

B) Blue

C) White -
D) Black

An object of 5 cm in size is placed
at a distance of 20 cm from concave
mirror of focal length 15 ¢m, what is
the nature of the |mage ?

A) Real, mverted enlarged

B) Real, erect, diminished

C) Virtual, inverted, diminished
D) Virtual, erect, diminished

A light of wavelength 750 nm in air
enters glass slab of refractive index
1.5. The change in wavelength of light
is approximately

A) 500 nm
B) 250 nm
C) 750 nm
D) 1250 nm

There are two lenses. One is convex
of focal length 20 cm and another is

concave of focal length 25 cm. What
is focal length of the comibination ?

“A) 0.01 cm

B) 100 cm
C) 10cm
D) 1cm
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120.

121,

122.

123.

HT ¥ GUae A T T AR H T
TR ?

A) wret

B) e

C) &a

D) wTen

15 .. Ha g 9 e 00 §
20 3., Fgh w5 A, i Sard Al
T T R, hifia B TpR N2 ?
A)amﬁﬁa'aasr '

B) arEfe, dul, Bkt
C) v, Iee, BT
D) v, e, St

arg # 750 et Tkl 9N @&
T 1.5 SqaIF 16 Hid i @ A
Y FAT R |mﬁatn%afmﬁmﬂ
qftem &

A) 500 et

B) 250 JHieX

C) 750 AR

D) 1250 i

2 o & | s 20 Q.. i wia g
Ioe & elegmu 25 A.ft. Mm@ A
7aae 2 | 9u waer i wiww g fRet
Bt 7

A) 0.01 9.1

B) 100 .4t

C) 109 .

D) 1@.H.
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124. How many 400 Q resistors are required | 124. 200 V& o518 I3 5 TR fagaum &t

to carry 5 ampere of current connected g F & T 400 Q F e vy
to 200 V line ? Y aTravaehar B0t ?
] A) 20 A) 20
B) 5 B) 5
C) 1 ] C) 1
D) 10 ' D) 10

125. Express which of the following setups 125, oige {3, ofgw & Fraw & wocr & ferg
Freafafaa ® @ w9 -di sEe @ s

can be used to verify Ohm'’s law.

i . m%?w N
BN I Y ma o
. L ]
2 © |
I B) | ll_ B)@) 2 .

3,
3,

c) 32 3 o 3 3

@
.
"% = ) £ 5

% 0
?

®

©




o5

126.

127.

128.

129.

A wire of resistance 8 ohm is bent in
the form of a closed circle. What is the
effective resistance between point A
andB?

8

90°

oz 2
BlLwiH MW Wi
0P o

=
o)

An electric heater is rated at 1 kW.
Calculate the heat produced per hour.

A) 1000 J

B) 3600 J

C) 3600 x 10°J
D) 60J

S. 1. unit of resistivity
A) ampere

B) coulomb

C) ohm

D) ohm meter

Two heaters A and B, rated 200W at
220V and 40W at 220V respectively, are
connected in paralle! to 220V supply.
Calculate current drawn by heater B.

A) 0.64 A
B) 0.91 A
C) 0.182 A
D) 1A
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B) 3600J

C) 3600 x 10°J
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A) 0.64 A

B) 0.91 A

C) 0.182 A

D) 1A
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130.-

131.

132.

133.

134.

Power of the lens suggested by
ophthalmologist is +2.5D, then

A) f=2.5 cm, convex lens
B) f =40 cm, concave lens
C) f=40cm, convex lens
D) f=2.5 cm, concave lens

The amount-of light entering the
human eye is controlled by

A) Iris

B) Cornea
C) Retina
D) Pupil

The eye defect in which far point shift
nearer than infinity is

A)iFar.sightedness
B)-Cataract

C) Short sightedness
D) Presbyopia

A person holds newspaper far from
his eyes to read it comfortably, then
he has

A) Cataract

B) Presbyopia

C) Hypermetropia

D) Myopia

In dispersion of white light through

glass prism, it is observed that violet

colour bends more and red colour

bends less, then

A} Wavelength of all colours same

B) 1'vk'llel > A‘refj

C) Aga > M

D) Bending does not depend on
wavelength
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135.

136.

137.

In the circuit below, the ammeter and
the voltmeter reading are 6A and
12V respectively, then the value of

resistance R is
(A)}—/VW »
_/

-©

A) >2Q
B) =2Q
C) 2Q

D) <2Q

In a conductor, 1500 coulombs of

charges enter and 1500 coulombs of |

charges exit in 5 min, then current is
A) 300 ampere

B) 5 ampere

C) zero

D) 1 ampere

Two wires of same material having
length and radii in the ratio 3 : 4 and
3 : 2 respectively, are connected in
parallel with a battery of 6V, the ratio
of currents is

A) 1:3

B) 3:1

C)1:2

D)2:1
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A) >2Q
B) 22Q
C) 20
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A) 1:3

B) 3:1

Cy1:2

D) 2:1
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138.

139.

140.

141.

If refractive index of water with respect
to air is % then refractive index of air

with respect to water is
A) 4x3
B) 3

4
o
D)Jg

A person requires a lens of power
—0.50D so where is his far point ?

A) 0.5m
B) 4m
C)2m

1
D} —m
)4

Near point of an eye suffering from
long sightedness is

A) 25cm

B) <25¢cm

C) >25¢cm

D) at infinity

When 1J of work is done in moving a

charge of 1 coulomb from one point A

to another point B in a electric circuit,

then it refers to the following

A) 1 ampere current between point A
and B

B) 1V of potential difference between
point A and B

C) 1.6 x 10-*® coloumb of charge
between point A and B

D) None of the above
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142. V-l graph of experiments on series
and parallel combinations of two given
resistors R, and R, shown below.

T

v parallal

A series

v

Fig. (i)
parallel

L.
r

series

_—

v
>

V——
Fig. (ii)
Which graph is/are correctly labeled ?
A) Only Fig. (i)
B) Only Fig. (ii)
C) Both Fig. (i) and Fig. (ii)
D) None of the above

143. In the given circuit diagram, reading in
the voltmeter is

142, faw e 2 wfedess R, 3 R, 3 s 3k
WHHIR HEISH1 T4 3 V-1 106 =
Em T |

vV—

Il (i)
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B) et TR (ii)
C) 3 3T (i) 3R e (i)
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2Q 40 602 Qé 2Q 40 602 é?
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A) 12V A) 12V
B) 10V B) 10V
C)s5V C)5V
D) 0.833V D) 0.833V
c 1PECE



144.

145,

146.

147.

An electric fuse is based on

A) The chemical effect of the current
B) The magnetic effect of the current
C) The heating effect of the current
D) None of the above

The purpdse of glass cover on top of
a box type solar cooker is to

A) Allow one to see the food being
cooked

B) Allow more sunlight into box
C) Prevent dust from entering box
D) Reduce heat loss by radiation

To work properly, wind-electric
generators used wind speeds of
atleast about

A) 1.5 km/h
B) 15 km/h
C) 150 km/h
D) 1500 km/h

Which energy from the following are
derived from the sun ?

i. Nuclear energy

ii. Wind energy

iii. Biomass energy

iv. Ocean thermal energy

A) ii and iii
B) i, iii and iv
C) iv, ii, iii

D) iandiii
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148.

148.

150.

In a small electric plant at your home,
45 kJ energy is generated. Then how
long you can power a incandescent
bulb of 45W approximately ?

A) 45 min.
B) 16.67 min.
C) 20.25 min.
D) 45 sec.

A student obtained following graph :

[

|
r
L S
1
t I 1
I [} |
2 4 6 B
V(Volt) ——
so resistance of resistor is
A) 2Q
B) 2kQ
C)02Q
D) 20Q

Which one of the.following is not true
about properties of magnetic field
lines 7

A) They come out from north pole and
go into south pole
B) They form closed loops

C) They intersect when two magnets
are kept

D) They are closely spaced in the
region of strong magnetic field

148.

149,

150.

AF R U B Forega WA 7 45 kJ
Fetl Jefea St § | O T TH 45W
AEIE wod T el e g & 7
A) 45 ffe
B) 16.67 fafte
C) 20.25 fifte
D) 45 d%e
T Fremeff = PrfiRaa o e &
bfm——————
i I.
[ — |
G I o
Wil
1 1 |
2 4 6 8
V (FiE) ——>
o wieRres &1 wfey §
A) 2Q
B) 2 kQ
C) 02Q
D) 20Q
HEehia 8 t@ielt % Ul & "eg o
frefifea i @ AR-araa Fdi R 7
A) 3 3ud g7 @ Fraea € ok afift ga i
e &
B) 9 =8 yR9Yy 7913 §
C) ¥ &t Yo 1@ 1d & O A Wioeag
EIok

D) & wfFaamet geehia & & agd wg-Ir
T B &

Page No. 38

1 PECE



Answer Key for 1 PECE (Set-C)

Q. No. | Answer Key Q. No. | Answer Key Q. No. | Answer Key
1 D 51 B 101
2 B 52 B 102 D
3 A 53 C 103 B
4 C 54 D 104 D
5 B 55 C 105 A
6 C 56 D 106 Cc
7 B 57 c 107 C
8 B 58 A 108 C
9 A 59 A 109 C
10 D 60 C 110 C
11 A 61 B 111 C
12 D 62 B 112 B
13 B 63 A 113 D
14 C 64 B 114 A
15 C 65 C 115 B
16 A 66 C 116 D
17 B 67 D 117 D
18 A 68 B 118 C
19 B 69 D 119 A
20 B 70 D 120 D
21 A 71 B 121 A
22 B 72 A 122 B
23 B 73 D 123 B
24 C 74 A 124 D
25 A 75 B 125 A
26 C 76 B 126 B
27 B 77 B 127 C
28 A 78 A 128 D
29 B 79 D 129 C
30 B 80 B 130 C
31 C 81 B 131 D
32 B 82 A 132 C
33 A 83 D 133 C
34 B 84 B 134 C
35 C 85 C 135 Cc
36 B 86 D 136 B
37 A 87 D 137 B
38 A 88 A 138 B
39 A 89 C 139 C
40 B 90 B 140 C
41 C 91 B 141 B
42 D 92 C 142 C
43 A 93 D 143 C
44 A 94 A 144 C
45 C 95 A 145 D
46 A 96 C 146 B
47 C 97 A 147 C
48 A 98 C 148 B
49 A 99 D 149 B
50 B 100 D 150 C




